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No| BIEH |#1X%A e &% 4 T HELT B & = i
1 FETHHEE 0.06 - 0.07 -
2 REfE 0.06 - 0.07 0.07
3 AEREM 0.07 - 0.07 -
4 AR E 0.07 - 0.06 -
5 AIXRERR 0.06 - 0.06 -
6 RAHHE 0.06 - 0.07 -
7 5268 REE®HLMES 0.05 - - -
8 BUSEREERE 0.07 - - -
9 HIZHHEE 0.07 - 0.07 -
10 tERER 0.06 - 0.06 -
11 THERER 0.06 - - -
12 . WY H R 0.06 - 0.06 -
13 % |BEKREM 0.06 0.06 0.06 -
14 R e 0.06 0.07 - -
15 = TN ELERBERE 0.06 0.06 0.07 -
16 KIFRERT 0.06 0.06 0.06 -
17 E/vFA 0.05 0.05 - -
18 KRR B R 0.06 0.05 0.06 -
19 VFEDLYREE 0.05 - 0.06 -
20 5H278 i%ﬁ':’éﬁﬁ_ 0.06 - 0.06 -
21 ERREF 0.04 - 0.05 -
22 RERIXZHIZZ 0.06 - - -
23 BEEREM 0.07 0.06 0.06 -
24 EILFYHE 0.09 0.08 0.09 -
25 FRENHE 0.06 - 0.06 -
26 HRHNREF 0.04 0.05 - -
27 3 EREFIRE R 0.06 - 0.05 -
PRy _

22 5296 fé j_cﬁfﬂf ia it 0.06 0.07 o.cis
= =& 2ET 0.06 0.07 0.07
30 KINMRERT 0.07 0.07 0.06 -
31 BILIREFT 0.07 0.07 0.07 -
32 LRREFR 0.06 0.06 0.06 0.06
33 - EFERER 0.06 - 0.04 -
PV —— _

2451 5H28H ﬁ ;; z:ﬁf‘: B i) 0.06 0.06 0.06
= HARERT 0.06 0.07 0.06 0.06
36 BXRERM 0.07 0.06 0.07 0.07
37 AAVREER 0.06 0.07 - 0.06
38 TIRAREER 0.04 - 0.04 -
39| 5A298 | #&E (FHEEM 0.07 0.07 - -
40 it |BERERER 0.06 0.05 0.06 0.06
41| 58238 iﬁ HERREM 0.07 0.05 0.07 0.08
42 X [(fBIIRERT 0.07 0.06 0.06 0.07
43 5A198 | #HE |(HEMXARER 0.06 - - -
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